## Snow Village DEPARTMENT



	Accessories				
		Year	Year	US	CAD
Item#	Description	<b>Issued</b>	Retired	SRP	SRP
56.50641	"Carolers" Set of 3	1979	1986	\$12.00	N/A
56.50690	"Ceramic Car"	1980	1986	\$5.00	N/A
56.50792	"Ceramic Sleigh"	1981	1986	\$5.00	N/A
56.50180	"Snowman With Broom"	1982	1993	\$3.00	N/A
56.64599	"Monks-A-Caroling"	1983	1984	\$6.00	N/A
56.50385	"Scottie With Tree"	1984	1985	\$3.00	N/A
56.50407	"Monks-A-Caroling"	1984	1988	\$6.00	N/A
56.50539	"Singing Nuns"	1985	1987	\$6.00	N/A
56.50555	"Auto With Tree"	1985	2001	\$5.00	\$10.00
56.50563	"Snow Kids Sled, Skis" Set of 2	1985	1987	\$11.00	N/A
56.50571	"Family Mom/ Kids, Goose/ Girl" Set of 2	1985	1988	\$11.00	N/A
56.50598	"Santa/ Mailbox" Set of 2	1985	1988	\$11.00	N/A
56.50946	"Kids Around The Tree"	1986	1990	\$15.00	N/A
56.50954	"Girl/ Snowman, Boy" Set of 2	1986	1987	\$11.00	N/A
56.50962	"Shopping Girls With Packages" Set of 2	1986	1988	\$11.00	N/A
56.51020	"3 Nuns With Songbooks"	1987	1988	\$6.00	N/A
56.51039	"Praying Monks"	1987	1988	\$6.00	N/A
56.51047	"Children In Band"	1987	1989	\$15.00	N/A
56.51055	"Caroling Family" Set of 3	1987	1990	\$20.00	N/A
56.51063	"Taxi Cab"	1987	2000	\$6.50	\$10.00
56.51071	"Christmas Children" Set of 4	1987	1990	\$20.00	N/A
56.51136	"Snow Kids" Set of 4	1987	1990	\$20.00	N/A
56.51160	"Man On Ladder Hanging Garland"	1988	1992	\$7.50	N/A
56.51179	"Hayride"	1988	1990	\$30.00	N/A
56.51187	"School Children" Set of 3	1988	1990	\$15.00	N/A
56.51292	"Apple Girl/ Newspaper Boy" Set of 2	1988	1990	\$11.00	N/A
56.51306	"Woodsman And Boy" Set of 2	1988	1991	\$13.00	N/A
56.51314	"Doghouse/ Cat In Garbage Can" Set of 2	1988	1992	\$15.00	N/A
56.51322	"Fire Hydrant & Mailbox" Set of 2	1988	1998	\$6.00	N/A
56.51330	"Water Tower"	1988	1991	\$20.00	N/A
56.51357	"Nativity"	1988	2000	\$7.50	\$11.50
56.51365	"Woody Station Wagon"	1988	1990	\$6.50	N/A
56.51373	"School Bus, Snow Plow" Set of 2	1988	1991	\$16.00	N/A
56.51381	"Tree Lot"	1988	1999	\$33.50	\$56.50
56.81833	"Sisal Tree Lot"	1988	1991	\$45.00	N/A
56.51462	"Village Gazebo"	1989	1995	\$27.00	N/A
56.51470	"Choir Kids"	1989	1992	\$15.00	N/A
56.51489	"Special Delivery" Set of 2	1989	1990	\$16.00	N/A
56.51683	"Kids Tree House"	1989	1991	\$25.00	N/A

					37/1
56.51691	"Bringing Home The Tree"	1989	1992	\$15.00	N/A
56.51705	"Skate Faster Mom"	1989	1991	\$13.00	N/A
56.51713	"Crack The Whip" Set of 3	1989	1996	\$25.00	N/A
56.51721	"Through The Woods" Set of 2	1989	1991	\$18.00	N/A
56.51730	"Statue Of Mark Twain"	1989	1991	\$15.00	N/A
56.51748	"Calling All Cars" Set of 2	1989	1991	\$15.00	N/A
56.51349	"Kids Decorating The Village Sign"	1990	1993	\$12.50	N/A
56.51586	"Down The Chimney He Goes"	1990	1993	\$6.50	N/A
56.51594	"Sno-Jet Snowmobile"	1990	1993	\$15.00	N/A
56.51608	"Sleighride"	1990	1992	\$30.00	N/A
56.51616	"Here We Come A Caroling" Set of 3	1990	1992	\$18.00	N/A
56.51624	"Home Delivery" Set of 2	1990	1992	\$16.00	N/A
56.51632	"Fresh Frozen Fish" Set of 2	1990	1993	\$20.00	N/A
56.51640	"A Tree For Me" Set of 2	1990	1995	\$7.50	N/A
56.51659	"A Home For The Holidays"	1990	1996	\$7.00	N/A
56.51977	"Special Delivery" Set of 2	1990	1992	\$16.00	N/A
56.54089	"Wreaths For Sale" Set of 4	1991	1994	\$27.50	N/A
56.54097	"Winter Fountain"	1991	1993	\$25.00	N/A
56.54100	"Cold Weather Sports" Set of 4	1991	1994	\$27.50	N/A
56.54119	"Come Join The Parade"	1991	1992	\$12.50	N/A
56.54127	"Village Marching Band" Set of 3	1991	1992	\$30.00	N/A
56.54135	"Christmas Cadillac"	1991	1994	\$9.00	N/A
56.54143	"Snowball Fort" Set of 3	1991	1993	\$27.50	N/A
56.54151	"Country Harvest"	1991	1993	\$13.00	N/A
56.54283	"Village Used Car Lot" Set of 5	1992	1997	\$45.00	N/A
56.54291	"Village Phone Booth"	1992	2022	\$7.50	\$12.00
56.54305	"Nanny And The Preschoolers" Set of 2	1992	1994	\$27.50	N/A
56.54313	"Early Morning Delivery" Set of 3	1992	1995	\$27.50	N/A
56.54321	"Christmas Puppies" Set of 2	1992	1996	\$27.50	N/A
56.54330	"Round & Round We Go!" Set of 2	1992	1995	\$18.00	N/A
56.54348	"A H eavy Snowfall" Set of 2	1992	2001	\$16.00	\$24.00
56.54356	"We're Going To A Christmas Pageant"	1992	1994	\$15.00	N/A
56.54364	"Winter Playground"	1992	1995	\$20.00	N/A
56.54402	"Spirit Of Snow Village Airplane"	1992	1996	\$32.50	N/A
56.54496	"Safety Patrol" Set of 4	1993	1997	\$27.50	N/A
56.54500	"Christmas At The Farm" Set of 2	1993	1996	\$16.00	N/A
56.54518	"Check It Out Bookmobile" Set of 3	1993	1995	\$25.00	N/A
56.54526	"Tour The Village"	1993	1997	\$12.50	N/A
56.54534	"Pint-Size Pony Rides" Set of 3	1993	1996	\$37.50	N/A
56.54542	"Pick-Up And Delivery"	1993	2001	\$10.00	\$13.00
56.54550	"A Herd Of Holiday Heifers" Set of 3	1993	1997	\$18.00	N/A
56.54577	"Classic Cars" Set of 3	1993	1998	\$22.50	N/A
56.54585	"Spirit Of Snow Village Airplane" 2 Assorted	1993	1996	\$12.50	N/A
56.54593	"Village News Delivery" Set of 2	1993	1996	\$15.00	N/A
56.54631	"Caroling At The Farm"	1994	2000	\$35.00	\$57.00
56.54712	"Stuck In The Snow" Set of 3	1994	1998	\$30.00	N/A

_	56 54720	"Data On Danada" Sat of 2	1004	1000	¢1650	N/A
	56.54720	"Pets On Parade" Set of 2	1994	1998	\$16.50	N/A
	56.54739	"Feeding The Birds" Set of 3	1994	1997	\$25.00	N/A
	56.54747 56.54755	"Mush!" Set of 2 "Skaters & Skiers" Set of 3	1994	1997	\$20.00	\$40.00
	56.54763		1994 1994	2001 2001	\$27.50	\$27.00
		"Going To The Chapel" Set of 2	1994 1994		\$20.00	Ψ27.00 N/A
	56.54771	"Santa Comes To Town, 1995" Limited To Year Of Production 1995	1994	1995	\$30.00	1 <b>\</b> / /\frac{1}{\tau}
	56.54780	"Marshmallow Roast" Set of 3	1994	2002	\$32.50	\$40.00
	56.54798	"Coca-Cola® Brand Delivery Truck"	1994 1994	1998	\$15.00	N/A
	56.54801	"Coca-Cola® Brand Delivery Men" Set of 2	1994 1994	1998	\$15.00	N/A
	56.54810	"Coca-Cola® Brand Billboard"	1994	1997	\$18.00	N/A
	56.54860	"Frosty Playtime" Set of 3	1994	1997	\$30.00	N/A
	56.54861	"Poinsettias For Sale" Set of 3	1995	1997	\$30.00	N/A
	56.54862		1995	1996	\$30.00	N/A
	30.34602	"Santa Comes To Town, 1996 Limited To Year Of Production 1996	1993	1990	\$32.30	14/11
	56 51962		1995	2002	\$16.50	\$25.00
	56.54863 56.54864	"Chopping Firewood" Set of 2		1999	\$10.30	Ψ23.00 N/A
		"Firewood Delivery Truck" "Service With A Smile" Set of 2	1995			N/A
	56.54865		1995	1998	\$25.00	N/A
	56.54866	"Pizza Delivery" Set of 2	1995	1998	\$20.00	N/A
	56.54867	"Grand Ole Opry Carolers" "Snow Comive Lee Souletures" Set of 2	1995	1997	\$25.00	N/A
	56.54868	"Snow Carnival Ice Sculptures" Set of 2	1995	1998	\$27.50	N/A
	56.54869	"Snow Carnival King & Queen"	1995	1998	\$35.00	\$35.00
	56.54870	"Starbucks® Coffee Cart" Set of 2	1995	2000	\$27.50	\$30.00
	56.54879	"Just Married" Set of 2	1995	2005	\$25.00	\$30.00 N/A
	56.54875	"A Ride On The Reindeer Lines" Set of 3	1996	1997	\$35.00	\$30.00
	56.54891	"On The Road Again" Set of 2	1996	2002	\$20.00	\$30.00 N/A
	56.54892	"Moving Day" Set of 3	1996	1998	\$32.50	N/A
	56.54893	"Holiday Hoops" Set of 3	1996	1999	\$20.00	N/A
	56.54894	"Men At Work" Set of 5	1996	1998	\$27.50	N/A N/A
	56.54895	"Terry's Towing" Set of 2	1996	1999	\$20.00	N/A
	56.54896	"Caroling Through The Snow"	1996	1999	\$15.00	\$12.00
	56.54897	"Heading For The Hills" 2 Assorted	1996	2002	\$8.50	\$12.00 N/A
	56.54898	"A Harley-Davidson® Holiday" Set of 2	1996	1999	\$25.00	N/A
	56.54899	"Santa Comes To Town, 1997"	1996	1997	\$35.00	IN/A
	56 54000	Limited To Year Of Production 1997	1006	2001	¢1650	\$28.00
	56.54990	"Harley-Davidson® Fat Boy & Softail"	1996	2001	\$16.50	\$27.00
	56.54901	"Harley-Davidson® Sign" "The Whole Femily Cose Shapping" Set of 2	1996	2002	\$18.00 \$25.00	\$27.00 N/A
	56.54905	"The Whole Family Goes Shopping" Set of 3	1997	1999		N/A
	56.54920	"Santa Comes To Town, 1998"	1997	1998	\$30.00	IN/A
_	56 54021	Limited To Year Of Production 1998	1007	2001	¢22.50	\$49.00
	56.54921	"A Holiday Sleigh Ride Together" "Christmas Kids" Set of 5	1997 1007	2001	\$32.50 \$27.50	ъ49.00 N/A
	56.54922		1997	1999	\$27.50	\$30.00
	56.54923	"Let It Snow, Let It Snow" "Vide Leve Hershov's TMI" Set of 2	1997	2000	\$20.00	\$45.00
	56.54924	"Kids Love Hershey's <sup>TM</sup> !" Set of 2	1997 1007	2000	\$30.00	\$43.00 N/A
	56.54925	"McDonald's®Lights Up The Night"  "Kida Candy Canas & Banald McDonald®" Set of 2	1997	1999	\$30.00	N/A N/A
	56.54926	"Kids, Candy Cones & Ronald McDonald®" Set of 3	1997	1999	\$30.00	1 <b>N</b> / F1

						NT/A
	56.54927	"He Led Them Down The Streets Of Town" Set of 3	1997	1999	\$30.00	N/A
	56.54928	"Everybody Goes Skating At Rollerama" Set of 2	1997	1999	\$25.00	N/A
	56.54929	"At The Barn Dance, It's Allemande Left" Set of 2	1997	1999	\$30.00	N/A
	56.54930	"Hitch-Up The Buckboard"	1997	1999	\$40.00	N/A
	56.54931	"Farm Accessory Set" Set of 35	1997	2002	\$75.00	\$112.50
	56.52780	"Uptown Motors Ford® Billboard"	1998	2001	\$20.00	\$32.00
	56.54936	"First Round Of The Year" Set of 3	1998	2001	\$30.00	\$45.00
	56.54938	"Carnival Tickets & Cotton Candy" Set of 3	1998	2000	\$30.00	\$45.00
	56.54939	"Two For The Road" 3 Assorted	1998	2002	\$20.00	\$30.00
	56.54950	"1955 Ford® Automobiles" 6 Assorted Each With A Sign	1998	2001	\$10.00	\$16.00
	56.54951	"1964 1/2 Ford® Mustang" 3 Assorted Each With Sign	1998	2001	\$10.00	\$16.00
	56.54952	"Village Fire Truck"	1998	2003	\$22.50	\$36.00
	56.54953	"Fireman To The Rescue" Set of 3	1998	2001	\$30.00	\$48.00
	56.54954	"Fun At The Firehouse" Set of 2	1998	2004	\$27.50	\$44.00
	56.54955	"Farmer's Flatbed"	1998	2000	\$17.50	\$28.00
	56.54956	"The Catch Of The Day"	1998	2001	\$30.00	\$48.00
	56.54957	"Christmas Visit To The Florist" Set of 3	1998	2001	\$30.00	\$48.00
	56.54958	"Santa Comes To Town, 1999"	1998	1999	\$30.00	N/A
		Limited To Year Of Production 1999				
	56.54959	"Village Service Vehicles" Set of 3	1998	2001	\$45.00	\$72.00
	56.54970	"Quality Services At Ford" Set of 2	1998	2001	\$27.50	\$44.00
	56.54971	"Patrolling The Road"	1998	2001	\$20.00	\$32.00
	56.54972	"Couldn't Wait Until Christmas"	1998	2000	\$17.00	\$27.50
	56.54974	"Uncle Sam's Fireworks Stand" Set of 2	1998	2000	\$45.00	\$72.00
	56.54975	"Harley-Davidson® Water Tower"	1998	2002	\$32.50	\$52.00
	56.54976	"Another Man's Treasure Accessories" Set of 3	1998	2001	\$27.50	\$44.00
	56.52836	"The Backyard Patio" Set of 2	1999	2002	\$40.00	\$64.00
	56.54983	"Looney Tunes® Animation Film Festival" Set of 4	1999	2001	\$40.00	\$64.00
	56.55013	"It's Time For An Icy Treat" Set of 2	1999	2001	\$30.00	\$48.00
	56.55014	"Welcome To The Congregation"	1999	2001	\$15.00	\$24.00
	56.55015	"Santa Comes To Town, 2000"	1999	2000	\$37.50	\$60.00
		Limited To Year Of Production 2000				
	56.55017	"Laundry Day"	1999	2001	\$13.00	\$21.00
	56.55019	"Before The Big Game" Set of 4	1999	2001	\$37.50	\$60.00
	56.55020	"Finding The Bird's Song" Set of 2	1999	2001	\$25.00	\$40.00
	56.55021	"Send In The Clown!" With Stickers	1999	2001	\$13.50	\$22.00
	56.55022	"Holy Spirit Baptistery" Music Box	1999	2001	\$37.50	\$60.00
		Tune: Jesus Loves The Little Children				
	56.55023	"First Deposit"	1999	2001	\$14.00	\$22.50
	56.55024	"Angels In The Snow" Set of 2	1999	2008	\$30.00	\$48.00
	56.55025	"Santa's Little Helpers"	1999	2001	\$27.50	\$44.00
	56.55030	"Is That Frosty?"	1999	2007	\$22.50	\$36.00
	56.55031	"On The Way To Ballet Class" Set of 3	1999	2001	\$27.50	\$44.00
	56.55032	"The Dragon Parade"	1999	2001	\$35.00	\$56.00
	56.55035	"Gifts On The Go" Set of 2	1999	2001	\$30.00	\$48.00
	56.55036	"Backwoods Outhouse"	1999	2007	\$20.00	\$32.00
_		· · · · · · · · · · · · · · · · · · ·		•	, ,,,,,,	

	56.52867	"Windmill By The Chicken Coop" Buck's County Series	2000	2003	\$55.00	
		j i i i i i i i i i i i i i i i i i i i			,	\$85.50
	56.52868	"The Old Pickup Truck" Buck's County Series	2000	2002	\$30.00	\$46.50
	56.52869	"Yesterday's Tractor" Buck's County Series	2000	2002	\$30.00	\$46.50
	56.55100	"Sitting In The Park" Set of 4	2000	2002	\$28.00	\$42.00
	56.55103	"How The Grinch Stole Christmas! Movie Premiere"	2000	2001	\$17.50	\$26.25
		Set of 2			,	
	56.55104	"The Tree Lighting Ceremony" Set of 3	2000	2002	\$65.00	\$101.00
	56.55105	"Now Showing - Elvis Presley® Sign"	2000	2001	\$30.00	\$46.50
	56.55106	"Elvis Presley® Autograph" Set of 3	2000	2001	\$25.00	\$39.00
	56.55108	"Pedal Cars For Christmas" Set of 2	2000	2003	\$27.50	\$42.50
	56.55109	"Roadside Billboards" Set of 3	2000	2003	\$40.00	\$62.00
	56.55110	"Christmastime Trimming"	2000	2008	\$15.00	\$23.50
	56.55111	"Buck's County Water Tower" Buck's County Series	2000	2003	\$32.50	\$50.50
	56.55112	"Buck's County Stables" Set of 9, Buck's County Series	2000	2002	\$65.00	\$101.00
	56.55116	"Family Canoe Trip" Set o f3	2002	2002	\$48.00	\$74.50
	56.55118	"2001 Space Oddity" Set of 11	2000	2001	\$125.00	\$194.00
	56.55119	"On The Beat" Set of 2	2000	2006	\$35.00	\$54.50
	56.55120	"Santa Comes To Town, 2001"	2000	2001	\$40.00	\$62.00
_	00.00120	Limited To Year Of Production 2001	2000	2001	φ.σ.σσ	
	56.55121	"The Abandoned Gas Pump" Buck's County Series	2000	2002	\$37.50	\$58.00
	56.55286	"Buck's County Horse Trailer" Buck's County Series	2000	2002	\$17.50	\$27.00
	56.55122	"Feeding The Ducks"	2001	2003	\$40.00	\$64.00
	56.55124	"Happy New Year" Set of 4	2001	2002	\$25.00	\$40.00
	56.55125	"Fun In Snow" Set of 2	2001	2006	\$25.00	\$40.00
	56.55126	"Holiday Reindeer Run"	2001	2002	\$25.00	\$40.00
	56.55127	"Santa Comes To Town, 2002"	2001	2002	\$85.00	\$135.00
	56.55128	"Bringing The Irish Cheer"	2001	2005	\$12.50	\$20.00
	56.55129	"School's Out!"	2001	2003	\$20.00	\$32.00
	56.55132	"Start Your Engines!" Set of 2	2001	2003	\$25.00	\$40.00
	56.55133	"Hiking In The North Woods"	2001	2003	\$20.00	\$32.00
	56.55134	"Main Street Villagers" Set of 3	2001	2006	\$25.00	\$40.00
	56.55135	"College Kids At Krispy Kreme"	2001	2004	\$17.50	\$28.00
	56.55136	"Snowmobile Racers"	2001	2006	\$15.00	\$24.00
	56.55137	"Oh, Brother!" Set of 2	2001	2003	\$18.00	\$29.00
	56.55139	"Door-To-Door Sales" Set of 2	2001	2003	\$20.00	\$32.00
	56.55141	"4th Of July Celebration" Set of 3	2001	2003	\$25.00	\$40.00
	56.55142	"Rest Stop?"	2001	2003	\$15.00	\$24.00
	56.55143	"Sunday Football With Dad"	2001	2003	\$15.00	\$24.00
	56.55144	"Ben & Buddy's Lemonade Stand"	2001	2003	\$25.00	\$40.00
	56.55152	"Brand New Recruit" Set of 2	2001	2003	\$20.00	\$32.00
	56.55153	"CongratulationsRecruit" Set of 2	2001	2002	\$17.50	\$28.00
	56.55154	"Snow Village Raising The Flag"	2001	2005	\$15.00	\$24.00
	56.55155	"Welcome To Snow Village Population Sign"	2001	2005	\$10.00	\$16.00
	56.55292	"School Bus"	2001	2004	\$20.00	\$32.00
	56.55156	"Nature Walk" Set of 2	2002	2004	\$27.50	\$44.00

56.55157	"Lucky's Irish Souvenirs" Set of 2	2002	2004	\$45.00	\$72.00
56.55159	"Main Street Snowman"	2002	2002	\$32.50	\$52.00
	Limited To Year Of Production 2002				
56.55165	"Krispy Kreme Doughnut Deliveries"	2002	2004	\$20.00	\$32.00
56.55161	"Village Snow Clown"	2002	2003	\$17.50	\$28.00
56.55168	"At Your Service"	2002	2004	\$12.50	\$20.00
56.55169	"Violin Sernade"	2002	2004	\$17.50	\$28.00
56.55170	"Making A House Call"	2002	2004	\$12.50	\$20.00
56.55171	"Home Away From Home"	2002	2006	\$27.50	\$44.00
56.55172	"Weekend Getaway" Set of 2	2002	2004	\$25.00	\$40.00
56.55173	"Let's Play House"	2002	2006	\$22.50	\$36.00
56.55175	"Village Utilities" Set of 10	2002	2005	\$15.00	\$24.00
56.55176	"Best Friends"	2002	2006	\$20.00	\$32.00
56.55177	"Car Wash Fundraiser" Set of 2	2002	2004	\$20.00	\$32.00
56.55178	"Carry Out Bou"	2002	2003	\$17.50	\$28.00
56.55179	"M'm! M'm! Good! <sup>TM</sup> "	2002	2004	\$25.00	\$40.00
56.55180	"Summertime Family Picnic" Set of 3	2002	2004	\$37.50	\$60.00
56.55181	"Kiddie Parade" Set of 3	2002	2004	\$30.00	\$48.00
56.55183	"Merrily Round We Go"	2002	2004	\$45.00	\$72.00
56.55194	"Santa Comes To Town, 2003"	2002	2003	\$45.00	\$72.00
	Limited To Year Of Production 2003				
56.55195	"Fresh Dairy Delivery" Set of 2	2002	2004	\$25.00	\$40.00
56.55196	"Ice Cream For Everyone" Set of 2	2002	2004	\$22.50	\$36.00
56.55197	"Sitting In The Village" Set of 3	2002	Current	\$25.00	\$40.00
56.55199	"Animals On The Farm" Set of 9	2002	2004	\$25.00	\$40.00
56.55202	"Jonathan The Bear Man"	2002	2003	\$12.50	\$20.00
56.55205	"Main Street Christmas Tree"	2003	2003	\$35.00	\$49.00
	Limited To Year Of Production 2003				
56.55207	"St. Patrick's Day Parade"	2003	2004	\$20.00	\$28.00
56.55208	"Work A Little, Play A Little" Set of 4	2003	2004	\$25.00	\$35.00
56.55209	"I'm Home"	2003	2005	\$13.50	\$19.00
56.55217	"No Girls Allowed"	2003	2005	\$20.00	\$28.00
56.55218	"We're Going By Train!" Set of 2	2003	2005	\$25.00	\$35.00
56.55222	"Santa Comes To Town, 2004"	2003	2004	\$50.00	\$70.00
	Limited To Year Of Production 2004				
56.55224	"Brand New Shoes!" Set of 2	2003	2005	\$17.50	\$24.50
56.55225	"News Flash"	2003	2005	\$17.50	\$24.50
56.55227	"Listening To A Summer Concert" Set of 2	2003	2005	\$20.00	\$28.00
56.55228	"A Day At The Beach"	2003	2005	\$25.00	\$35.00
56.55229	"Billboard Surprise"	2003	2005	\$22.50	\$31.50
56.55230	"Here Comes The Birdie!"	2003	2005	\$17.50	\$24.50
56.55231	"More Decorations?" Set of 2, Christmas Lane <sup>TM</sup> Series	2003	2008	\$17.50	\$24.50
56.55232	"Pleasing The Palate!"	2003	2005	\$20.00	\$28.00
56.55233	"Christmas Is Coming"	2003	2006	\$25.00	\$35.00
56.55235	"Neighborhood Poinsettia Salesman" Set of 2	2003	2008	\$22.50	\$31.50
56.55254	"Main Street Town Santa"	2004	2004	\$32.50	\$45.50

	Limited To Year Of Production 2004				
56.55251	"We'll Win For Sure!"	2004	2005	\$15.00	\$21.00
56.55252	"Townspeople" Set of 5	2004	2005	\$32.50	\$45.00
56.55253	"Neighborhood Christmas Scene" Christmas Lane <sup>TM</sup>	2004	2004	\$49.99	,
30.33233	Series	2001	2001	Ψ 1,2,2,2	\$69.99
56.55256	"Budweiser Clydesdales"	2004	2006	\$65.00	\$82.50
56.55258	"Harvest Yard Fun" Set of 2	2004	2006	\$25.00	\$32.00
56.55260	"Who's Walking Who"	2004	2008	\$20.00	\$25.00
56.55261	"We Have A Deal!"	2004	2006	\$17.50	\$22.00
56.55262	"Something For Me?"	2004	2006	\$17.50	\$22.00
56.55264	"Can I Open One Now?"	2004	2006	\$18.50	\$23.00
56.55265	"What A Great Find!" Set of 2	2004	2006	\$17.50	\$22.00
56.55266	"Santa Comes To Town, 2005"	2004	2005	\$35.00	\$44.00
	Limited To Year Of Production 2005				
56.55267	"Christmas Lights Tour"	2004	2017	\$25.00	\$32.00
56.55268	"Future Hockey Stars"	2004	2007	\$17.50	\$22.00
56.55269	"Gone Fishing" At The Lake Series	2004	2006	\$20.00	\$25.00
56.55278	"Hurry Up, It's Picture Time"	2005	2006	\$15.00	\$19.00
56.55279	"A Day At The Races"	2005	2006	\$17.50	N/A
56.55401	"Sparky's New Doghouse"	2005	2007	\$15.00	\$19.00
56.55402	"Santa Comes To Town, 2006"	2005	2006	\$27.50	\$35.00
56.55403	"Flash Photo Hut"	2005	2008	\$27.50	\$35.00
56.55404	"Will You Marry Me?" Limited To Year Of Production	2005	2006	\$15.00	
	2006				\$19.00
56.55406	"Budweiser Delivery Truck"	2005	2006	\$25.00	N/A
56.55407	"Like Father, Like Son"	2005	2021	\$20.00	\$25.00
56.55408	"What An Adorable Baby!"	2005	2007	\$18.50	\$23.00
56.55412	"Decorating Elsie For Christmas"	2005	2008	\$20.00	\$25.00
56.55413	"Telephone Line Repairman"	2005	2007	\$15.00	\$19.00
56.55414	"Toy Boat Whittling Lesson"	2005	2007	\$17.50	\$22.00
56.55415	"Dad's Christmas Tradition"	2006	2007	\$17.50	\$21.00
56.55416	"Soccer Moms Rule!"	2006	2007	\$18.50	\$22.00
56.55411	"Roadside Produce Stand"	2006	2009	\$32.50	\$39.00
56.55418	"Candy Canes From The Mayor"	2006	2010	\$18.50	\$22.00
56.55419	"Weiner Dogs To Go"	2006	2009	\$12.50	\$15.00
56.55420	"Everyone Decorates The Tinsel Tree"	2006	2020	\$18.50	\$22.00
56.55421	"Children's Nativity"	2006	2009	\$12.50	\$15.00
56.55422	"Our First Television"	2006	2009	\$15.00	\$18.00
56.55423	"Grill Master & Friend"	2006	2009	\$18.50	\$22.00
56.55424	"A Pool Tournament At Sharky's"	2006	2010	\$17.50	\$21.00
56.55426	"One Malt - Two Straws"	2006	2008	\$15.00	\$18.00
56.55427	"Kitten Wants New Mittens"	2006	2009	\$15.00	\$18.00
56.55428	"Santa Comes To Town - 2007"	2006	2007	\$27.50	\$33.00
# / # # ! <b>^</b> ^	Limited To Year Of Production 2007	2005	2000	<b>4.7.</b> 00	¢10 00
56.55430	"They Have A Room For Us"	2007	2008	\$15.00	\$18.00
56.55431	"The Windmill Wishing Well"	2007	2007	\$20.00	\$24.00

700075	11337 1	2007	2000	Φ20.00	\$20.00
799975	"Welcome To Snow Village"	2007	2009	\$20.00	
799974	"Welcome To Christmas Court"	2007	2009	\$20.00	\$20.00
799972	"Santa Comes To Town - 2008"	2007	2008	\$32.50	\$32.50
799973	"The Yuengling Champs"	2007	2009	\$30.00	\$30.00
799971	"Ready For Picking"	2007	2009	\$30.00	\$30.00
799970	"Over The Treshold"	2007	2009	\$22.50	\$22.50
799969	"Nursery School Outing"	2007	2009	\$32.50	\$32.50
799968	"Homework Can't Wait"	2007	2008	\$22.50	\$22.50
799967	"His Name Will Be Pumpkinhead"	2007	2009	\$27.50	\$27.50
799966	"Ginger's House"	2007	2015	\$22.50	\$27.00
800005	"Christmas Lane Lit Gate"	2007	2012	\$27.50	\$33.00
804453	"An Angelic Scene"	2008	2014	\$17.50	\$17.50
804454	"Letters To Santa"	2008	2014	\$15.00	\$15.00
804455	"It's A Tough Choice"	2008	2009	\$22.50	\$22.50
807285	"Santa Comes To Town, 2009"	2008	2009	\$35.00	\$46.00
	Limited To year 2009 Production				<b>42</b> 0.00
807286	"Blue Ribbon Treats"	2008	2010	\$30.00	\$39.00
807287	"Unfair Advantage", set of 2	2008	2011	\$27.50	\$36.00
807293	"What You Crave", set of 2	2008	2011	\$25.00	\$33.00
807289	"Making Luminaries"	2008	2010	\$17.50	\$23.00
807290	"Gifts For The Teacher"	2008	2010	\$22.50	\$29.50
807292	"I Hope She Likes Them"	2008	2010	\$22.50	\$29.50
805025	Yuengling Delivery", set of 2	2008	2009	\$30.00	\$39.00
807291	"Help With The Decorations"	2008	2010	\$18.50	\$24.00
808952	"Grandma's Favorite Present"	2010	Current	\$22.50	\$27.00
808957	"Shopping With Mom"	2010	2011	\$22.50	\$27.00
808877	"Santa Comes To Town, 2010"	2010	2010	\$37.50	\$45.00
808953	"Nutcracker Ballerinas"	2010	2012	\$25.00	\$30.00
808954	"Four Cups Of 'Joe' To Go"	2010	2011	\$18.50	\$22.00
808958	"Lost And Found"	2010	2011	\$22.50	\$27.00
808959	"Thanks For The Help, Boy"	2010	2015	\$22.50	\$27.00
809010	"Waiting For The Bus"	2010	2020	\$30.00	\$36.00
4016901	"Town Square Tree & Gazebo"	2010	2010	\$59.00	\$71.00
	Limited To Year 2010 Production				
808736	"Out For A Drive" 3 assorted	2009	2017	18.50	24.00
				each	each
4020220	"Spirit Of '76"	2011	2012	\$22.50	\$27.00
4020222	"Future Firefighter"	2011	2013	\$27.50	\$33.00
4020223	"Quinceanera Celebration"	2011	2011	\$22.50	\$27.00
4020228	"Beachside Christmas"	2011	2012	\$18.50	\$22.50
4020225	"Skating Fun"	2011	2013	\$22.50	\$33.00
4020955	"Skate Date"	2011	2013	\$35.00	\$42.50
4020221	"Snow Village Clock Tower"	2011	2011	\$35.00	\$35.00
4023831	"Travels With Ed, Chicago"	2011	2011	\$25.00	\$40.00
4020226	"Cookies From Carols"	2011	2012	\$27.50	\$33.00
4022804	"Brite Lites Christmas Parade, Santa's Float"	2011	2013	\$50.00	\$60.00

	4022806	"Brite Lites Christmas Parade, Marching Bulbs"	2011	2013	\$30.00	\$36.00
	4022805	"Brite Lites Christmas Parade, Snowman Float"	2011	2013	\$32.50	\$40.00
	4022807	"Brite Lites Christmas Parade, Banner"	2011	2013	\$25.00	\$30.00
	4020956	"Santa Comes To Town, 2011"	2011	2011	\$37.50	\$45.00
	4020216	"A New '56 Harley-Davidson® KH"	2011	2013	\$35.00	\$42.50
	4022864	Harley-Davidson® Billboard"	2011	2013	\$32.50	\$40.00
	4022809	Chick-Fil-A® Billboard"	2011	2012	\$35.00	\$42.50
	4020227	"Eat Mor Chikin®"	2011	2012	\$35.00	\$42.50
	4022808	"Red Cup Café Watertower"	2011	2012	\$37.50	\$45.00
	4025326	"The Tradition Continues"	2012	2013	\$23.50	\$28.50
	4025329	"A Mistletoe Surprise!"	2012	2013	\$23.50	\$28.50
	4025330	"Haul Out The Holly"	2012	2013	\$23.50	\$28.50
	4025328	"I Hope It Snows This Much"	2012	2013	\$23.50	\$28.50
	4025325	"Always A Fun Time On A Harley"	2012	2015	\$35.00	\$42.00
	4025324	"Hog Heaven"	2012	2014	\$35.00	\$42.00
	4025331	"Snow Village Cars" 2 assorted	2012	2014	\$20.00 ea	\$24.00 ea
	4025332	"Xmas Parade, Peppermint Float"	2012	2012	\$37.50	\$45.00
	4025333	"Xmas Parade, Marching Flakes"	2012	2012	\$35.00	\$42.00
	4025334	"Santa Comes To Town, 2012"	2012	2012	\$45.00	\$54.00
	4025337	"Grandpa's Little Helper"	2012	2014	\$23.50	\$28.50
	4025323	"Christmas Lane Greetings"	2012	2013	\$27.50	\$33.00
	4025334	"Santa Comes To Town, 2012"	2012	2012	\$45.00	\$54.00
	4025332	"Brite Lites Christmas Parade, Peppermint Float"	2012	2013	\$37.50	\$45.00
	4025333	"Brite Lites Christmas Parade, Marching Snowflakes"	2012	2013	\$30.00	\$36.00
	4028708	"Santa's New Ride Is A Harley"	2012	2017	\$37.50	\$46.00
	4028709	"Harley Road Trip!"	2012	2013	\$35.00	\$42.00
	4028710"	Travels With Ed, Missouri"	2012	2012	\$30.00	\$36.00
	4030753	"Santa Comes To Town, 2013"	2013	2013	\$30.00	\$45.00
	4030742	"Fire It Up Dad!"	2013	Current	\$22.50	\$27.00
	4030734	"Cousin Eddie's RV"	2013	Current	\$75.00	\$90.00
	4030741	"Cousin Eddie In The Morning"	2013	Current	\$22.50	\$27.00
	4030743	"The Griswold Family Christmas Tree"	2013	Current	\$40.00	\$48.00
	4030754	"Checking The Weather"	2013	2015	\$22.50	\$27.00
	4030747	"Support Your Polars!"	2013	2015	\$23.50	\$28.00
	4030749	"Hot Pizza, Fast!"	2013	2015	\$23.50	\$28.00
	4030748	"Loon Lake Champion"	2013	2015	\$27.50	\$33.00
	4030756	"Snow Village Nativity"	2013	Current	\$25.00	\$30.00
	4030752	"Let's Show Mom"	2013	2015	\$23.50	\$28.00
	4030750	"Spoiled By Grandma"	2013	2015	\$23.50	\$28.00
	4030746	"Harley Ever After"	2013	2015	\$35.00	\$42.00
	4030745	"Harley Campfire"	2013	2016	\$37.50	\$45.00
	4035578	"Holiday Special Toy Town Accessory Set", set of 4	2013	2013	\$49.00	\$59.00
	4035583	"Keeper of The Flame"	2013	2015	\$25.00	\$30.00
	4035584	"Wild Pair"	2013	2015	\$37.50	\$45.00
	4035585	"A Harley Legend"	2013	2015	\$17.50	\$21.00
	4035586	"Coca-Cola Delivery Truck"	2013	2015	\$35.00	\$42.00
Ц	1033300		2013	2013	422.00	<b>↓ .2.</b> 00

4005505	"C 1 T IV"	2012	2017	Φ <b>2</b> Ω ΩΩ	Φ <b>2</b> < 00
4035587	"Coke Is It!"	2013	2015	\$30.00	\$36.00
4035588	"A Coke For The Holidays"	2013	2015	\$40.00	\$48.00
4036083	"Travels With Ed, Arizona"	2013	2013	\$30.00	\$36.00
4030744	"Animated Flaming Sleigh"	2013	Current	\$70.00	\$84.00
4035928	"Dreaming of a Harley Holiday"	2014	2015	\$45.00	\$54.00
4036471	Shocking Clark	2013	2017	\$40.00	\$45.00
4036571	"El Mariachi Loco"	2014	2017	\$35.00	\$42.00
4036572	"Holiday Helper"	2014	2017	\$27.50	\$33.00
4036573	"Harley-Davidson Race Ready"	2014	2016	\$32.50	\$39.00
4036574	"Harley-Davidson Top Speed!"	2014	2016	\$32.50	\$39.00
4036575	"Back For The Holidays"	2014	2015	\$27.50	\$33.00
4036576	"First Class Job"	2014	2016	\$20.00	\$24.00
4036577	"A Perfect Game"	2014	2015	\$27.50	\$33.00
4036580	"Todd & Margo"	2014	2016	\$27.50	\$33.00
4036581	"Santa Comes To Town, 2014"	2014	2014	\$40.00	\$48.00
4036582	"Oh My!"	2014	2014	\$27.50	\$33.00
4036583	"Tweet Treats"	2014	2015	\$25.00	\$30.00
4036584	"Snow Village Sleigh Rides"	2014	2016	\$49.00	\$59.00
4036585	"Downhill Buddies"	2014	2016	\$27.50	\$33.00
4036578	"Things Go Better With Coke"	2014	2015	\$32.50	\$39.00
4036579	"Coke Break"	2014	2015	\$32.50	\$39.00
4042412	Fiesta Al Fresco"	2014	2016	\$25.00	\$30.00
4043912	"La Fiesta Feast"	2014	2016	\$20.00	\$24.00
4042411	"La Fiesta To-Go Truck" (LED lighted)	2014	2016	\$50.00	\$60.00
4042421	H-D Juneau Avenue Water Tower	2016	2018	\$45.00	\$63.00
4043911	"Shopping With Todd & Margo"	2014	2015	\$32.50	\$39.00
4044862	"With Potato, Potato, Fries"	2015	2016	\$25.00	\$30.00
4044863	"Harley Road Fuel"	2015	2016	\$35.00	\$42.00
4044864	"Return Nose & No One Gets Hurt"	2015	2017	\$30.00	\$36.00
4044865	"Ice Sculptor In The Making"	2015	2016	\$37.50	\$45.00
4044866	"Black Forest Oompah Band"	2015	2016	\$37.50	\$45.00
4044867	"Happily Ever After"	2015	2017	\$28.50	\$34.00
4044868	"Suit Up For Santa"	2015	2015	\$28.50	\$34.00
4044869	"Winter fun At The Market"	2015	2016	\$30.00	\$36.00
4044870	"Coke Adds Life"	2015	2015	\$32.50	\$39.00
4044871	"Snow Village Town Tree"	2015	2017	\$59.00	\$71.00
4044872	"DQ Treats For Two"	2015	Current	\$25.00	\$30.00
4044873	"Cool Treats To Eat"	2015	2017	\$30.00	\$36.00
4044874	"Brats Mobile"	2015	2016	\$35.00	\$42.00
4044875	"Sidewalk Brat Stop"	2015	2016	\$27.50	\$33.00
4044876	"Coca-Cola Service Truck"	2015	2015	\$35.00	\$42.00
4044884	"Santa Comes To Town, 2015"	2015	2015	\$55.00	\$66.00
4049034	"Dairy Queen Billboard"	2015	2017	\$35.00	\$42.00
4049212	"Milk Run"	2015	2017	\$37.50	\$47.00
4049213	"Birch Island Towing"	2015	2017	\$35.00	\$44.00
4049215	"Making Room For Dessert"	2015	2016	\$28.50	\$35.00

				<b>** * * *</b>	<b>424 7</b> 0
4049216	"Good News to Every Stoop"	2015	2016	\$25.00	\$31.50
4049214	Snow Village String Trio	2015	2015	\$39.00	\$53.00
4049651	A Present For Clark	2015	2018	\$37.50	\$52.50
4050993	Blue Ribbon Christmas	2016	2017	\$30.00	\$42.00
4050996	Letters To Santa, Snow Village	2016	2016	\$20.00	\$28.00
4050988	Take-Out	2016	2017	\$18.50	\$26.00
4055218	Panda Palace Free Delivery	2016	2017	\$30.00	\$42.00
4050990	Mother's Little Helper	2016	2016	\$25.00	\$35.00
4050992	Girl Scout Snowshoeing Fun	2016	2016	\$26.50	NA
4050991	Girl Scout Cookie Time	2016	2017	\$27.50	NA
4050994	Dog For The Dog	2016	2016	\$20.00	\$28.00
4050997	Santa Comes To Town, 2016	2016	2016	\$45.00	\$63.00
4050995	Ready To Race	2016	2017	\$27.50	\$38.50
4050989	Black & White With Joy All Over	2016	2017	\$27.50	\$38.50
4054209	Village Sasquatch	2016	2017	\$17.50	\$24.50
4049651	A Present For Clark	2016	2018	\$37.50	\$52.50
4049652	Moose Mug Toast	2016	Current	\$35.00	\$49.00
4054975	Snow Village, Sidewalk Sweets	2016	2016	\$26.00	NA
4055641	It Takes Two To Shovel A Village	2016	2017	\$26.50	NA
4054976	Snow Village Snow Removal	2016	2017	\$40.00	NA
4054986	Clark Trims The Tree	2016	Current	\$22.50	NA
4055698	DQ Sweets For You	2016	2017	\$27.50	\$38.50
4058668	Clark & Rusty Continue the Tradition	2017	Current	\$28.50	\$40.00
4056688	Nutcracker Sweet	2017	2018	\$15.00	\$21.00
4056691	Bike Season Every Season	2017	2018	\$25.00	\$35.00
4056695	Northwoods Proposal	2017	2017	\$30.00	\$42.00
4058881	Inner Tube Sled Dog Race	2017	2019	\$36.50	\$37.00
4058777	Casting For The Opener	2017	2017	\$27.50	\$38.50
4058550	Santa Comes To Town, 2017	2017	2017	\$45.00	\$63.00
4056699	Sasquatch Foot Print?	2017	2018	\$22.50	\$31.50
4056696	Snow Much Fun	2017	2019	\$22.50	\$31.50
4056694	The One That Got Away	2017	2018	\$22.50	\$31.50
4056690	Musique de Café	2017	2017	\$23.50	\$33.00
4056697	Holidazed And Confused	2017	2017	\$26.50	\$37.00
4056632	Snow Village Shakedown	2017	2017	\$23.50	\$33.00
4056567	Coffee Station Catch-Up	2017	2018	\$32.50	n/a
4059142	Village Friends Snow Village Kit, 2017	2016	2017	\$70.00	\$98.00
6000647	Great Wine, Great Company	2018	2018	\$28.50	\$39.00
6000642	Snow Village Gate	2018	Current	\$45.00	\$63.00
6000643	Trekking in the Backcountry	2018	2018	\$26.50	\$36.00
6000648	Norman Rockwell's "Christmas Packages"	2018	2019	\$28.50	\$39.00
6000649	Norman Rockwell's "Grandfather & Snowman"	2018	2019	\$32.50	\$45.00
6002650	Flattop Barbershop Quartet	2018	2018	\$38.50	\$53.00
6001319	Village Friends Snow Village Kit, 2018	2018	2018	\$60.00	\$84.00
6000656	Family Sedan	2018	2018	\$27.50	\$38.00
6000654	Santa Comes To Town, 2018 (lighted)	2018	2018	\$50.00	\$69.00

6000655	Family Wagon	2018	Current	\$27.50	\$38.00
6000651	Morning Chores	2018	2018	\$25.00	\$35.00
6000653	Catch of the Day	2018	2019	\$37.50	\$52.00
6000645	Alleluia	2018	Current	\$32.50	\$45.00
60002646		2018	Current	\$37.50	\$52.00
6002298	Birthday Party Surprise	2018	2018	\$23.50	n/a
6002956	Snow Day	2018	2020	\$28.50	n/a
6003150	Aviator Santa	2019	2020	\$20.00	\$27.00
6003151	Santa's Plane	2019	2021	\$45.00	\$60.00
6003144	Norman Rockwell's "Bedside Manner"	2019	2020	\$27.50	\$37.00
6003147	One Giant Step!	2019	2019	\$32.50	\$45.00
6003148	Choosing the Perfect Tree	2019	2020	\$32.50	\$45.00
6004817	Welcome To The B&B	2019	2021	\$25.00	\$35.00
6003149	Beginner's Luck	2019	2019	\$32.50	\$45.00
6003146	Dad's Turn To Cook	2019	2019	\$32.50	\$45.00
6003145	Merry Christmas, Pastor	2019	2019	\$26.50	\$36.00
6003152	Santa Comes To Town, 2019 (25th anniversary edition)	2019	2019	\$65.00	\$90.00
6003141	Making Christmas Brite	2019	2022	\$37.50	\$50.00
6003142	Play Ball!	2019	Current	\$30.00	\$40.00
6005468	Winter Woodland Standoff, set of 2	2020	2021	\$35.00	\$47.00
6005462	Sleigh Bell Ride	2020	2021	\$65.00	\$90.00
6005464	A Day on the Lake	2020	2021	\$35.00	\$47.00
6005466	Bringing Home Christmas	2020	2021	\$32.50	\$45.00
6005465	Feelin' Groovy	2020	2021	\$32.50	\$45.00
6005467	Snow Village Water Tower	2020	2021	\$60.00	\$84.00
6005461	Rockwell's "Cover Girl" (Bench not included)	2020	2021	\$18.50	\$25.00
6005460	Heading For The Hills	2020	2021	\$45.00	\$60.00
6005471	Santa Comes To Town, 2020	2020	2020	\$47.50	\$65.00
6005463	I'm Sorry, Merry Christmas (National Lampoon)	2020	Current	\$28.50	\$39.00
6005499	Lucky The Snowman, 2020	2020	2020	\$28.50	\$39.00
6000655	Family Wagon	2018	2020	\$30.00	\$40.00
6007630	Lighting the Advent Wreath	2021	2022	\$50.00	\$68.00
6007634	Her Fine Feathered Friends	2021	2021	\$26.50	\$36.00
6007635	Save Some Room For Fish Sticks	2021	Current	\$32.50	\$45.00
6007631	It's A Dip Stick, Billy	2021	2021	\$32.50	\$45.00
6007632	Catching the Christmas Spirit	2021	2021	\$32.50	\$45.00
6007636	It's Good Ol' Charlie Brown	2021	2022	\$40.00	\$55.00
6007775	Santa Comes To Town, 2021	2021	2021	\$56.00	\$76.00
6007268	A Festive Christmas Gate	2021	Current	\$90.00	\$120.00
6007269	Baby's First Christmas	2021	Current	\$32.50	\$45.00
6009789	Gone (National Lampoon)	2022	Current	\$45.00	\$58.50
6009700	I'm In Complete Control!, set of 2 (National Lampoon)	2022	Current	\$150.00	\$195.00
6009709	Good Boy	2022	Current	\$35.00	\$45.00
6009711	The Super Super	2022	Current	\$42.00	\$54.50

6009715	Ready For The Weekend	2022	Current	\$28.50	\$37.00
6009717	Just In Time For The Holidays	2022	Current	\$50.00	\$65.00
6009779	Santa Comes To Town, 2022	2022	2022	\$58.00	\$75.50
6009713	Friends For Life	2022	Current	\$30.00	\$39.00
6009707	Crayola Holiday Coloring Party	2022	Current	\$58.00	\$75.50
6009705	Angling For A Win	2022	Current	\$50.00	\$65.00
6009703	Christmas Eve Preparations	2022	Current	\$68.00	\$88.50
6011425	We Made It Until Midnight	2023	Current	\$38.00	\$51.50
6011421	Odd Jobs Before the Snow	2023	Current	\$32.50	\$44.00
6011432	Engine 223 Pump Truck	2023	Current	\$56.00	\$75.00
6011423	Safe And Sound	2023	Current	\$30.00	\$40.50
6012290	A Purrfect Christmas Gift	2023	Current	\$28.50	\$38.50
6011435	Just 2 More Days	2023	Current	\$32.50	\$44.00
6011429	A New Neighbor	2023	Current	\$30.00	\$40.50
6011419	I May Have Hooked A Big One	2023	Current	\$35.00	\$47.50
6011462	Lit Legion Post 56 Wreaths For Sale	2023	Current	\$50.00	\$67.50
6011430	Santa Comes To Town, 2023	2023	Current	\$65.00	\$87.50
6011433	Birds of a Feather	2023	Current	\$38.00	\$51.50
6011417	A Trip To Who-Ville	2023	Current	\$40.00	\$54.00
6009813	Date Night	2023	Current	\$35.00	\$47.50
6011427	The Perfect Gift For Snots	2023	Current	\$25.00	\$34.00